efficiency or misid. prob.

efficiency or misid. prob.

1 ~CMS Simulation. \FI:I7TIeVI .
B (@ _
E e -
::Q::Q: JPL: QCD events tt events O _
L —e— b quark = b quark —O—=
0.6— —@— c quark = c quark —
B —A— uds quark or gluon -4c-uds quark 7
— :g::g:—i—=!= —— B —
0.4 ;.D_:D.:ﬂ:ﬂ:i:w: A —
0.2 . —
e aiA—A— AT -
B . L . . .
0 40 50 60 100 200 300 400
P, [GeV/c]
1 CMS Simulation, \'s =7 TeV — —
B (c)
N AR as e S PO E
L JPL: QCD t i _
B —o— (b?quaer\lien > tt-e‘-a\t;eqnjgrk :Qz:Q: |
0.6— —m— c quark ¢ quark :@
B —— uds quark or gluon “4r-uds quark ]
OA%iiiiiiiiiiiiiigi —
= ™y W T 2
_ :H::g: _
- -
0.2 4
Hﬂ—ﬁ-ﬁﬁ-‘—‘—kﬂ%ﬁ**f
O L L L L | L L L L | L L L L | L L L L | L L L
0 0.5 1 15 2

ul



	Contents
	Page 1


